o o
Fl.l I‘I'I ItU I‘e Le I SU I‘e FurnitureLeisure.com PoolFurnitureSupply.com
E Commercial Site Furn]shings PicnicFurniture.com PicnicTableSupplier.com
1-800-213-2401 | sales@furnitureleisure.com | ' arkTables.com UBrace.com

Dog Themed Bench

DOG11-D-18-000



Parts, Hardware, and Suggested Tools

Unit Common Description UnitsPer Model
6’ Rectangular SeatPlanks 2

Portable Bench Frame 2

Diagonal Brances 2

5/16-18 x 1 1/2" tap bolt w/black xylan 10

5/16"x3"hex capscreww/black xylan 2

5/16-18 nylock nut w/black xylan 12

5/16 ussflat washerw/black ox 24
#vc300-85/16" bolt size 1/2" Ig vinyl cap 10

SuggestedTools

Open FaceWrench

Socket Wrench

' ' 2‘;\ Tape Measure

LS Leve

SeatPlank

& 0065 N Lay B SeatPlank
—

/ Diagonal I Bolt (HWO01)
Braces
Portable @ Nut(HW02)
Bench Frame o Washer(HW03)
@ BoltCap(HW04)



Specification - Written

SeatMaterial: Outer frame is madefrom 3/4” x 2” rolled form angleiron.
» Punched Steelmodels- Inside material is 12 gauge,1/2” punched Steel. Bracing is 1-1/2” Solid Steelflat bar. All MIG welded.

SeatCoating:

* Industry StandardCoating - the Industry Standardline is coatedwith a Premium Polyethylene Coating, The Industry Standardcoating comes
with a5 yearwarranty and is availablein 9 different colors

Frames: Framesare madefrom 2-3/8” OD pre-galvanized steeltubing.

FrameCoating: High Durability Architectural Gradeelectrostatic applied PowderCoat.

Hardware: All hardwareis Xylan coating black hardwarefor extra protection and strength

Dimension: 6 Portable Benchwith Back Overall Dimension: 72" L, SeatHeight 18” (after install), Overall Height 30.5”,SeatWidth 10”



Specification - Drawing

!

A

72.00

e e e e e e e e = 2 7

0000000000000 000000000000000000000000000000000000000000000O000O0ODOOOOO0
0000000 DOOO0OO0O00O0O00O0O00O0O00O0O0O0O0O0O0O0O0OOO0O0OOO0OOO0OOO0OO0O0OO0O0OOOOOOOOO0DPOOOOOO0OO
0000000000000 000000000000000000000000000000000000000000000000O0O0DOOOOO

17.00°

30.46

10.00

18.00

10.00




Assembly Instructions

1. Attach Seat Plank for bottom seatto Portable BenchFrame using Hardware
Provided. (Hand tighten at this time)

2. Attach SeatPlank for Back seatto Portable Mount BenchFrame using
Hardware Provided. (Hand tighten at this time)

3. Attach Diagonal Braceto Portable Benchframes from hole in center of leg
postto bracket under SeatPlank (use 3” Bolts for legs)

4. Level seatand back and tighten bolts

MyTCoat doesnot offer installation: Recommenda professionalinstaller to
install bench.



Installation Safety:

PleaseFollow Installation Instructions provided by Manufacturer

It is recommendedthat Product is installer by an experienced
installer

Product should be inspectedat the time of Delivery, do not install
and damagedon defective parts or products.

All Hardware for proper assembly(not installation) is provided. Usehardwarethat is
included with this product.

Product Maintenance:

Maintence inspection should be performed at aminium of onceayear.

Cleaning, when neccessarycanbe performed with warm water and most household clean-
ers, aviod any harsh chemicals such aspaint remover and acetone. Contact Manufacture
before cleaningto dertermine if cleaning product is OK for use.

Any surfacerust that may occur should be removed and repainted. Contact Manufac-
ture for touch up paint or any other recommededpaints.

Contact Manufacture for instructions on removing vandalism such asspray paint.

In the casethatthe MyTCoat coating is damaged,contact Manufacture for instructions
for repair.

Bolts and nuts should be check on aregular basisto maintain proper tightness.



